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&5 X 4 Er%:né){ —Fﬁﬁ“ﬁﬁ‘(i)@ﬂ-ﬁ%ﬁ jj(:iatr:f)é X 4 'Fﬁn“ﬁﬁg\ézg;kzlz ‘(.%,r'g jj(ﬁ?f)é X 4 E.%,r‘na‘)r J:ﬁn“ﬁb\(if)tt‘.%‘ jj(ﬁ?f)é X 4 J:ﬁﬁ;ﬁ\(i)d)tt?%‘ ‘(r%r‘n? jj(:;zcnié
1 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.65 57.99 | =nst 000 ~ 4.65| 1.87 10.03 Thlst 1.00 | 5.00 ~ 56.06 57.99 | ThLS | 5,00 ~ 506 | 1.87 10.03
2 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 2.11 28.93 | =S | 000 ~ 211|257 13.73 Thlst 1.00 | 5.00 ~ 5.08 28.93 | hst | 5,00 ~ 5.08| 2.57 13.73
3 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 2.28 30.66 | TN 000 ~ 228|252 13.50 Thlst 1.00 | 5.00 ~ 5.09 30.66 | ThLS | 5,00 ~ 5.09 | 2.62 13.50
4 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.70 5866 | #hAs | 0.00 ~ 0.00 | 1.59 8.561 Thlst 1.00 | 5.00 ~ b5.14 58.56 | ThLS | 5,00 ~ 514 | 1.69 8.61
5 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.85 86.70 | s | 000 ~ 685 1.74 9.33 Thlst 1.00 | 5.00 ~ 8.40 86.70 | ThLS | 5,00 ~ 840 | 1.74 9.33
6 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZS - ~ — — —
s 1.00 | 0.00 ~ 6.01 75.35 | #nLS | 000 ~ 601 1.75 9.35 Thlst 1.00 | 5.00 ~ 6.85 75.35 | =hLS | 5,00 ~ 685 1.75 9.35
” 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 6.32 79.42 | =L | 000 ~ 632 1.78 9.53 Fhst 1.00 | 5.00 ~ 7.40 79.42 | Fhst | 500 ~ 740 1.78 9.563
P 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 5.13 63.95 | =n4t | 0.00 ~ 0.00| 1.69 9.04 Fhst 1.00 | 5.00 ~ 5.51 63.95 | ThLs | 5,00 ~ 551 | 1.69 9.04
9 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 4.79 59.75 | =nS 000 ~ 4.79| 1.76 9.43 Fhst 1.00 | 5.00 ~ 56.04 59.75 | Fhs | 5,00 ~ 504 | 1.76 9.43
10 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 1.50 22,49 | ThSY 000 ~ 1.50 | 2.74 14.67 Fhst 1.00 | 5.00 ~ 5.01 22,49 | #hS | 5.00 ~ 501 2.74 14.67
11 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 3.17 40.51 | =nS 000 ~ 317|245 13.11 Fhst 1.00 | 5.00 ~ 6.36 40.51 | =hst | 5,00 ~ 6.36 | 2.456 13.11
19 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/mMi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.86 86.84 | TnLs | 0.00 ~ 686 | 2.64 14.15 Fhst 1.00 | 5.00 ~ 1131 86.84 | ThLS | 5,00 ~ 11.31]| 2.64 14.15
13 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 6.43 80.94 | =nLS [ 0.00 ~ 6.43| 2.73 14.61 Fhst 1.00 | 5.00 ~ 1122 80.94 | =L | 5,00 ~ 11.22| 2.73 14.61
14 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3m%EBZ S - ~ — — —
Ths — -~ = — | ZhLst -~ = — — ZzhLst — -~ — — | EhLst - ~ — — —
15 100kN/mMZ#8Z % — - ~ — — |3mZE#EZDE| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3m%EBZ S - ~ — — —
Ths — -~ = — | Zhust -~ = — — st — — ~ — — | ThLlst - ~ — —
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ﬁg TREOBEBOEILHOKRES TEFEDOHBEILHIOKRES TEFEOBRBOEILHDOKRES TREOHBESSLIDKRES
&5 X 4 Er%r'n? —Fﬁﬁ“ﬁﬁ‘(i)@ﬂﬁ%ﬁ jj(:iatr:f)é X 4 'Fﬁn“ﬁﬁg\ézg;kilz ‘(.%,r'g jj(&)\itﬁé X 4 E.%,r‘na‘)r J:ﬁn“ﬁ;b\(if)tt‘.%‘ jj(&)\itﬁé X 4 J:ﬁﬁ;ﬁ\(i)())tt?%‘ _(r%;n_c;( jj(:ilzcnié
16 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 5.39 67.27 | =S | 0.00 ~ 539 | 2.08 11.13 st 1.00 | 5.00 ~ 7.28 67.27 | ThS | 5,00 ~ 7.28 | 2.08 11.13
17 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 3.87 48.59 | =nst 000 ~ 387|220 11.77 Thlst 1.00 | 5.00 ~ b5.56 48.59 | ThLS | 5,00 ~ 556 | 2.20 11.77
18 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 3.71 46.70 | =N 000 ~ 371|224 11.98 Thlst 1.00 | 5.00 ~ b.58 46.70 | ThLS | 5,00 ~ 558 | 2.24 11.98
19 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 3.71 46.70 | TN 000 ~ 371|224 11.98 Thlst 1.00 | 5.00 ~ b.58 46.70 | ThLS | 5,00 ~ 558 | 2.24 11.98
20 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.91 61.13 | #h4 | 000 ~ 491 | 1.85 9.88 Thlst 1.00 | 5.00 ~ 5.33 61.13 | #h4 | 5,00 ~ 5.33| 1.85 9.88
21 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZS - ~ — — —
s 1.00 | 0.00 ~ 5.82 72.81 | =04 | 0.00 ~ 0.00 | 1.569 8.561 st 1.00 | 5.00 ~ 6.99 72.81 | #hH | 5,00 ~ 6.99 | 1.59 8.61
99 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 4.84 60.36 | =nS | 0.00 ~ 484 | 2.10 11.23 Fhst 1.00 | 5.00 ~ 6.46 60.36 | TS | 5,00 ~ 6.46 | 2.10 11.23
93 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst — ~ — — —
24 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst — ~ — — —
95 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst — ~ — — —
2% 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst — ~ — — —
97 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/mMi%#8% % — -~ — — |3mZEBZ S - ~ — — —
Ths — -~ = — | Zhust -~ = — — ZzhLst — -~ — — | EhLlst — ~ — — —
98 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
Ths — -~ = — | ZhLst -~ = — — ZzhLst — -~ — — | EhLlst — ~ — — —
29 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3m%EBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 341 43.22 | =nS [ 0.00 ~ 341|223 11.94 zhst 1.00 | 5.00 ~ 5.03 43.22 | #hst | 5,00 ~ 503|223 11.94
20 100kN/mMZ#8Z % — - ~ — — |3mZE#EZDE| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3m%EBZ S - ~ — — —
Ths 1.00 | 0.00 ~ 350 44.34 | #npst 000 ~ 350|221 11.83 st 1.00 | 5.00 ~ 5.05 44.34 | Fhis | 5,00 ~ 5.05] 2.21 11.83
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&5 X 4 Er%r'n? —Fﬁﬁ“ﬁﬁ‘(i)@ﬂﬁ%ﬁ jj(:iatr:f)é X 4 'Fﬁn“ﬁﬁg\ézg;kilz ‘(.%,r'g jj(&)\itﬁé X 4 E.%,r‘na‘)r J:ﬁn“ﬁ;b\(if)tt‘.%‘ jj(&)\itﬁé X 4 J:ﬁﬁ;ﬁ\(i)())tt?%‘ _(r%;n_c;( jj(:ilzcnié
37 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.37 94.07 | FnLUS | 0.00 ~ 7.37| 2.01 10.74 st 1.00 | 5.00 ~ 10.18 94.07 | =hd4 | 5,00 ~ 1018 2.01 10.74
32 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.39 94.28 | #nSt | 0.00 ~ 7.39| 2.35 12.60 Thlst 1.00 | 5.00 ~ 10.05 94.28 | =hds | 5,00 ~ 1005] 2.35 12.60
33 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.20 91.58 | =hst | 000 ~ 720 1.87 9.98 Thlst 1.00 | 5.00 ~ 9.38 91.58 | =h4 | 5,00 ~ 9.38| 1.87 9.98
24 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.23 52.93 | #hAS | 000 ~ 4.23| 2.03 10.88 Thlst 1.00 | 5.00 ~ 5.12 52.93 | =hLS | 5,00 ~ 512 2.03 10.88
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/mM%#BZ 5 ~ ImERBAD ~ 100kN/ Mm% % % ~ ImEHAD ~
zhst ~ st ~ st ~ zhst ~
100kN/MZ#8 2 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#BZ 5 ~ ImEBZD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBAD ~
Ths ~ ZzhLst ~ ZzhLst ~ Ths ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ zhLst ~ ZzhLst ~ Ths ~
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/mM%E#Z 5 ~ ImEBZD ~
Ths ~ st ~ st ~ Ths ~
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